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MEYNLE I X OVE R (FPT) iE
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NO AR il LR | 1T | 2 T %
1 [HE SMAR FHE. 15em, L 30. 2
2 | FERE. 15em, M L 19.7
3 | FEHE. 15em, M L 92. 8
4 | FEHE. 15em, [ L 24. 1
5 | iR, 30cm, M L 3.0
6 |1 AR, 30cm, L 4.0
7 | EH, 15cm, H R 40. 4
8 | FEHE. 15em, M R 9.2
9 | FERE. 15em, R 15.4
10 [» EH, 15cm, H R 67.5
11 [ AR, 30cm, [ R 3.0
12 | AR, 30cm, A R 4.0
(ESCLIDS FHE. 15em, L 50. 2
8 | FERE. 15em, L 36. 1
9 |» f#ER. 15em, L 35.0
10 [PEjiH FHR, 15em, R 49. 8
11 |» Y75 . 45cm, H R 11.1
12 [0 F2#R, 15cm, [ R 32.6
13 |» Y77 . 45cm, H R 36.2
14 |5 148 Y77 45cm, H R 6.0
15 | B S FEHR, 15cm, B R 30.0
16 {5 11 F53E 0 AH. 45em, A L 1.5
17 |» f#ER . 45cm, L 4.0
18 |» f#ER . 45cm, R 1.5
19 |7» f#ER . 45cm, R 1.5
Al FHR, 15em, [ 199.5]  268.5
FHR, 15em, #E 30.0 0.0
AH. 15em, A 0.0 35. 0
AHR. 30cm, M 6.0 8.0
AHR. 45em, [ 5.5 3.0
Y77 45cm, H 17. 1 36. 2




